
Nombre: Clave De RespuestasEncontrando múltiplos

Matemáticas www.CommonCoreSheets.es
1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

R e s p u e s t a s

1. C

2. B

3. D

4. D

5. D

6. A

7. C

8. A

9. C

10. C

11. D

12. D

13. A

14. C

15. B

Resuelve cada problema.

1) ¿Qué opción es un
múltiplo de 5

A. 61

B. 96

C. 75

D. 94

2) ¿Qué opción es un
múltiplo de 2

A. 27

B. 32

C. 23

D. 37

3) ¿Qué opción es un
múltiplo de 10

A. 115

B. 138

C. 163

D. 160

4) ¿Qué opción es un
múltiplo de 3

A. 59

B. 35

C. 47

D. 45

5) ¿Qué opción es un
múltiplo de 9

A. 102

B. 169

C. 127

D. 126

6) ¿Qué opción es un
múltiplo de 6

A. 78

B. 125

C. 122

D. 87

7) ¿Qué opción es un
múltiplo de 5

A. 104

B. 73

C. 55

D. 68

8) ¿Qué opción es un
múltiplo de 2

A. 38

B. 29

C. 33

D. 35

9) ¿Qué opción es un
múltiplo de 6

A. 113

B. 98

C. 120

D. 100

10) ¿Qué opción es un
múltiplo de 9

A. 120

B. 150

C. 108

D. 111

11) ¿Qué opción es un
múltiplo de 2

A. 35

B. 37

C. 33

D. 30

12) ¿Qué opción es un
múltiplo de 9

A. 186

B. 100

C. 170

D. 99

13) ¿Qué opción es un
múltiplo de 3

A. 39

B. 47

C. 40

D. 59

14) ¿Qué opción es un
múltiplo de 10

A. 149

B. 121

C. 160

D. 167

15) ¿Qué opción es un
múltiplo de 5

A. 68

B. 80

C. 103

D. 99
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